Varied Fluency
Converting Pounds and Pence

Developing

T1a. A.£1 and 30p; B. 20é6p; C. £3 and 77p
2a.£2 and 19p

3a.A,B, C

4a. The table should be completed as
follows:

Pounds and pence Pence

£1 and 50p 150p

£% and 20p 730p

£2 and 75p 275p

£3 and 40p 340p
Expected
5a. A. £3 and 54p; B. 245p; C. £4 and 52p.
éa.£3 and 1p
7a.B, A, C

8a. The table should be completed as
follows:

Founds and pance Fence
£1 and 47p 147p
£ and ¥5p 95p
£4 and 13p A13p
£5 and &4p Sadp

Greater Depth

9a. A. £10 and 30p; B. 870p; C. £5 and 90p

10a. One £5 note, three 50p coins, seven
5p coins, two 2p coins

1Ma. A, C,B

12a. The table should be completed as
follows. There maybe variations where
answers involve notes:

Motes and coins Pounds and pance

Thres £5 nodes, six £1
coing and two 5p coins

Twa £10 notbes, four £2
‘comns and eight 2p coing

£1% and 10p

£18 and 1ép

Four £2 coins, nine 1
coins and ihvee 2p coing
Vanous answers, for

example: One £20 nole
and twelve Sp coins.

Brép

£20 and s0p

Varied Fluency
Converting Pounds and Pence

Developing
1b. A. 455p; B. £1 and 45p; C. 11ép

2b. £5and 51p

3b.B, A, C

4b. The table should be completed as
follows:

Pounds and pence Pence

£7 and 30p 230p

E7 and 25p T25p

£3 and 44p 344p

E4 and 73p 473p
Expected

5b. A. 198p; B. £3 and 8p; C. 517p

éb. £3 and éép

7b.C,B A

8b . The table should be completed as
follows:

Pounds and pence Pence
4 and 77p &77p
£7 and 75p 795p
£2 and 13p 213p
£3 and 24p 324p

Greater Depth

¢b. A. 745p; B. £12 and 24p; C. £12 and
50p

10b. Six 50p coins, twelve 5p coins and
seven 1p coins

11b.B, C, A

12b. The table should be completed as
follows. There maybe variations where

answers involve notes:

Moes and coins

Pounds and pance

One £20 nole, bwo Sp
colms, and one Tp coin

Two £5 notes, four £1
coins and six 209 coing
Nine 50p coins, bwo 20p
coins and six 2p coins

E20 and 11p

£15 and 20p

S02p

Viamious answers, for
example: Three £5 nofes
and sevenleen 1p coin

£15 and 17p




